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Please check that this question paper contains 12 printed pages and
2 pages of maps.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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o7 &I 8 13 TY-IT0T Fo7 8 | JAF 7 3 b FT 8 | IAH T H
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97 G 14 T 20 FF-3709 97 & | I9F J97 5 37F BT & | AP 97 &
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J97 G&IT 21 HTorw FE0 1 GEET a9 3 A9 g & qefid 8, 397
g&IT 22 Wifcrs el # [EET # 39gE el @ @9l @ gefad 8 | ya%
Y975 b H 8 |

3T9H! 17U T v dour YRA F JGT-TrfEl B IW-YiaHT & AT T
|

{GT-TfE] & 3G & 77 QT a7 2xaeied & 71T 1 SFHlT & Tl
g/

General Instructions :

(1)
(it)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 8 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A

1. EER g ol i fafa | 1
arera
‘Bl AR 316g 1 gfeamn fefiau | 1

Define the term ‘telecommunication’.
OR
Define the term ‘retail trading’.

2. HHd faom@ & T § U3RhIeRr shl HehoUdT shl 9@ <hifsru | 1
Examine the concept of ‘Empowerment’ with reference to Human
Development.

8. Y TEHl Sl SHHEAT oA h Th He@Ul g o €9 H fohd YR M1
TAT 8 2 Ueh shIUT TS <hITT | 1

How is the age structure known as an important indicator of population
composition ? Explain one reason.

4. GER ¥ ynfiur sfcqat & fore o ®Re % w9 H gren’ % med il W@
HINT | 1

Examine the significance of ‘Defence’ as a locational factor for rural
settlements in the world.

5. WNdH 91y YU % fohdl g @ Hidi i 3g@ hHifT | 1.1
AT z2 2
WRA | 9 IgEOr’ < foR-El 31 @ Eidl %1 3g@ HINT | Tyl

Mention any two major sources of ‘air pollution’ in India.
OR

Mention any two major sources of ‘land pollution’ in India.

6. UG # WSl % Geohegur & fopedl <T@ & 1 3g@ hIfT | é+é=1
A H e YT fohgl o Ged ‘STHEnTd ol o @il o1 3g@ shitve | L+ L=g

Mention any two major regions of concentration of minerals in India. z 2
OR
Mention any two main ‘non-conventional’ energy sources, mainly used in
India.
7. A I A4 foohE gawe (A1.f9.9,) ¥ qar= T9E R g ? T HIT | 1

Explain why Kerala has recorded the highest value in the Human
Development Index (H.D.I.).

641513 3 PTO.
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SECTION B
IRA § T afeqat st fohegl i fomiarsti o1 o Shifv | 1x3=3
HAAAT
IRd § TIesd amH afe 6t foredl fiF fomivarent o1 avia Hifv | 1x3=3
Describe any three features of urban settlements in India.
OR

Describe any three features of clustered rural settlements in India.

= feu U @ 1 FEYTigE® J1eE HIVT 3R 38k = QT U e
I TR 1+1+1=3

9.1) 39 t@ET &1 9W fofay, 9 W T8 309 w9 fog B
(9.2) 39 THUA GIF I AIG-3TITh ohl YA hid ATCH AIB-3TIEh hl GHI

&1 3@ HINT |
(9.3) 39 THUIG HIA I Wk ATY(d i dTcd a9 A8 1 A9 AT |

4



Study the following diagram carefully and answer the questions that
follow :

Bhilai Steel Plant

Bilaspur

Balaghat

Mahanadi River

/Z
.Jk{
e 2
PE——
e Y Steel Plant
Dalli Rajhara Hills Ed. Dalomite
| ok DManganese
A y Iron-Ore
'{/ T Coal
Tank Iron
s Railway Line
-1
9.1) Name the railway route on which this steel plant is located.
(9.2) Mention the iron-ore mines which supply iron-ore to this steel

plant.

(9.3) Name the thermal power station supplying power to this steel
plant.

Fie :  HrlcIad g9 FacT giRETaT ghgntaEt & 079, 397 G 9 @ T W

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 9 :

‘TR FTATd GIF hi foheal o faiwarsti st wuse Fhifsy | I1x3=3
Explain any three features of ‘Bokaro Steel plant’.
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10. = feu mu ure w1 wEgEigds steE il 3t 3us A9 fer T wwEt &
IR feAflem 1+1+1=3
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Study the graph given below carefully and answer the questions that
follow :

World merchandise exports, 2005 - 2015
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(10.1)  Which year has shown the highest export of total merdandise ?
(10.2) In which year was the export of manufactured goods lowest ?

(10.3) Why has the total export of agricultural products remained
almost the same from 2011 to 2014 ?

Fie :  FHEICTRIT F99 FIT FIEATIAT GhLier & 178, 97 &1 10 & T T &

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 10 :

IS T AR & feheal o9 SR <hl =3t i | 1x3=3
Explain any three bases of international trade.
11. 3™ 3T Tqed gH1 TAHT T Y™ o SHIcheh ™ TROET 1 9 i | 3

Examine the demographic consequences of migration for both, the places
of origin and destination.

12. YA & “9T9TE o hl U ity | 3

Explain the ‘linguistic composition’ of India.

641513 7 PTO.



14.

15.

“Fgt 7 @ Frara mavIeRar di feafa (valawfia feerag) & it 3 & faw

Tasal (Huadre) <l aen 8 |7 39 STGUNON 1 IS dfgd fagasor Hifs |
AT

“onfen Tm W forw siifaes TR weRfa wP ® 17 59 oM W fawemm

iU |

“There is neither a situation of absolute necessity (environmental

determinism) nor is there a condition of absolute freedom (possibilism).”

Analyse this concept with example.
OR

“The physical environment for primitive societies becomes ‘Mother

Nature’.” Analyse the statement.

Tug
SECTION C

‘SEEn 6 gy’ o SaEen #i gfg @ H A e Hifu | gER |

G & faauer sl ysifad o 9t i 3Tifefer SRt k1 fagaiwr ifsie | 248=5

Distinguish between ‘growth of population’ and ‘growth rate of
population’. Analyse the three economic factors that influence the
distribution of population in the world.

qreTg 3T ShicTehTdT Tl shi Gl ekl fE¥fd, 68 T R fod =R § 3

g o ded H Hifr | 1+1+3=5

rerat
HHTTRA 3R fosm@TIeH Jqg ol i gar ekl feufa, g wew o fowa

IR | 39 Hgd & ded § HIfSu | 1+1+3=5

Compare Mumbai and Kolkata sea ports on the basis of location,

hinterland and their significance in world trade.
OR

Compare Marmagao and Vishakapatnam sea ports on the basis of

location, hinterland and their significance in world trade.



16. “HOR # yuemrRE HN ofd faitme amfifsus $fv 2 17 39 % di gfee
EAUE 5

AT

“FEr 1 S0 FV Falfus 39d, & AR IS Te TRR HI FN 2 17 38 HAT H
gfse i | 5

“Mediterranean agriculture is highly specialised commercial agriculture

in the world.” Support the statement.
OR

“Dairy farming is the most advanced, efficient and capital intensive type
of farming in the world.” Support the statement.

17. 1 9NGE 1 FI1 He™ @ ? Iadl feqlies gl AF i fhegl T Agwegul
fereryaret w1 avi i | 2+3=5
What is the significance of water transport ? Describe any three
important features of the ‘North Atlantic Sea Route’.

18. TUR H 3Imi i feafa + ywifaa @ @ fhdl 9fe @il i W@
i | Ix5=5
HAYAT
TOR | Teng gl i fheel uta faemarsti i wa Hifu | Ix5=5
Examine any five factors that influence the location of industries in the

world.
OR

Examine any five characteristics of ‘Footloose Industries’ in the world.
19. Yd § I gEeEl hl v &k foiw IR foedl g e hl samEn
HIT | Ix5=5

Explain any five factors responsible for depletion of water resources in
India.

20. “9Nd # v g o fefiemn e iR s g 17 e afgd v
HIT | 1x5=5

“Degradation of cultivable land is a serious problem in India.” Explain
with examples.

641513 9 PTO.
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21. HER o U 7T TSHIfqeh W@-AFRE (I8 13 W), § 9ra WRTiicish Aol i A,
B, C, D 3R E & fe@mn o 2 | 39 guH efdfad SHeert it @8R 8

FHIfSTT 2R 3k TEl 0 396 IrE Wi 78 st w ot Ix5=5
A SO FW w e
B. YH@ &Hg! 99A
C. IS ga18 U
D. e yeu
IR-ATESET T % R 1 wewE

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct
names on the lines drawn near them :

An area of ‘Dairy farming’

A major seaport

An international airport

An industrial region

The terminal station of Trans-Siberian Railway

e : ﬁmﬁ@am%g@aﬁ%uﬁaﬂéﬁ%w o7 GCIT 21 & FH WE :

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Q. No. 21 :

(21.1) TER H 0 Ff = foreh w wy@ &= 1w fafaw |

(21.2) Hd o Torell T Y@ TG T 1 AW ARET |

(21.3) Toeht & ST gams uoH &1 9 fofau |

(21.4) <faror IMTEhT § Ted o1 < HIH-AT B ?

(21.5) UR-GTSSREA temnl o ufved) iR o weem &1 9m faRau | Ix5=5

(21.1) Name any one major area of dairy farming in the world.

HOOW >

(21.2) Name any one major sea port of Norway.
(21.3) Name an international airport in Chile.
(21.4) Which is the largest country in South America ?

(21.5) Name the western terminal station of Trans-Siberian Railway.

641513 10
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22. WRA % U MU TSI W@-AERE (I8 15 W), § faled & 9 fg7 o
fiifTeh AT o1 3UYh Toral © gy 3R 3k W feAfe Ix5=5

(22.1) wMa o gaes (W.fa.q,) ¥ 9e8 = =) aen T

(22.2) AMHSATE H HEw@qUl HIFA G &

(22.3) 3INfes U TG G

(22.4) AT TgA ITHISH 1 FEAT

(22.5) UG T TS FATS UTH
(22.6) Hewrsg ¥ 10 faferem & sfires SHEE e =t
(22.7) A H Yq@ TG qTH

(22.8) WERT 1 JUUN IcqEeh Tsd

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) with appropriate
symbols :

(22.1) The State with lowest level of Human Development Index (H.D.I.)
(22.2) An important coal mining area in Tamil Nadu

(22.3) A steel plant in Odisha

(22.4) The Headquarter of North Central Railway Zone

(22.5) An international airport in Punjab

(22.6) The city with more than 10 million population in Maharashtra
(22.7) A major sea port in Kerala

(22.8) The leading producer State of maize

64/5/3, 11 P.T.O.
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Fie:  FHECTRET 397 Fac GIRETEd ghgniaan & o/, J97 G&I7 22 & T T/
& | BT gia 797 57 B 3 |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) 9RA % T8 TT § AFS oo™ guehie (A1.f0.9,) 998 7 &R &
27

(22.2) dfbeTg | fordmse @ &= w1 9 fafew |

(22.3) Htesh B fovq forelt T goama w9w o1 9 fafee |

(22.4) AT T ITHUSH I TEATAT HIH-AT § ?

(22.5) U9E T fed ST garg v ot A fafay |

(22.6) TENTSE o fop wEX T 10 Taferam @ s1fees smaen 2 2

(22.7) T ° YW THE UG HH-AT ] ?

(22.8) WNd H HeAT & MUl IcqTgeh T ot 19 fafeaw | Ix5=5

(22.1) Which State of India has the lowest level of Human Development
Index (H.D.I.) ?

(22.2) Name the lignite mining area in Tamil Nadu.

(22.3) Name any one steel plant located in Karnataka.

(22.4) Which is the Headquarter of North Central Railway Zone ?

(22.5) Name the international airport located in Punjab.

(22.6) Which city of Maharashtra has more than 10 million population ?
(22.7)  Which is the major sea port in Kerala ?

(22.8) Name the leading producer State of maize in India.

641513 w2
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I H. 22 & foiw For question no. 22
A T T@T-AE A (TSTHITR)
Outline Map of India (Political)
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